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Serialism after 1945: Babbitt, Semi-Simple Variations

The work is on pp. 517 - 519 of the Burkhart Anthology, with an excellent explanation beginning on p. 516. 

1. The initial row is in the top voice of the right hand in mm. 1 - 12 — [10,6,11,8,7,9,3,1,2,5,0,4]
Construct a matrix with P-0 across the top row.

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	


2. Do any invariant relationships appear in the matrix? Is so, what is the relationship? (be specific)

3. Figure 2 on p. 516 shows how the piece begins, with four individual lines in four registers, each with its own row form/transposition. The two inner voices begin in a non-standard manner. What are the four row forms that begin in m. 1 and continue through m. 12? Indicate what is unusual about the two inner rows.

(1)________ 

                       (2)___________
(3)________

                       (4)___________

4. The variations make use of a rhythmic series based on divisions of the quarter note. The first three quarter note patterns are given on p. 517, along with the process for deriving both the patterns and their inversions. Write the complete 16-beat pattern and it’s inversion. (Write the two patterns entirely in sixteenth notes and sixteenth rests, with bar lines separating each beat.) 

P:  _______________________________________________________________________

    ________________________________________________________________________

I:  ________________________________________________________________________

    ________________________________________________________________________

5. The theme and each variation deploy their own form of the rhythmic row. Remember that the retrograde is the prime in reverse, and the retrograde inversion is the reverse of the inversion. What form of the row is used in, 

Variation I: 

Variation II:

5. For extra credit, can you determine how the forms of the rhythmic rows are being used in either Variation IV or V?
